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Answer the following questions.
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Factor the following equation using cross multiplication.
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(ax+b)(cx+d)

=2x24+0x+ 3
LB ke k.

Find the formula.
{ax X cx = ZxZ}
bxd=3
g
axc=2<&R5HIE

a=2 ,c=1

bxd=3&75HE

Ob=3 ,d=1
2>< 3 —3
1 1 > 2
5

(2x+3)(x+1)

=2x2+5x + 3

@b=1 ,d=3
2 1 -1
X s

7

(2x+1)(x+ 3)

=92x2+7x+ 3

@®@b=—3,d=-—1

2\, —3 —>—3
17N —1 —>—2
—5

(2x—3)(x—1)

=2x2—5x+ 3

@b=—1,d=—3
2 -1 —->-1
1 —3 —>—6

(ax+b)(cx+d)

=2x2+0x+5
LanRaRe k.

OD6ex2+5x +1

=(2x+1)(3x+ 1)

axc =6, bxd =1
6x1 , 1x1
3x2 , (—)x(-1)
6>< 1 —1
1 1 —>6

7
3>< 1 —>2
2 1 —3

5

D4x2+5x+1

@2x2+x — 1

=(2x—1)(x+ 1)

( axc = 2,bxd =—1

2x1 ,1x(—1)
2>< 1 - 1
1 —1 —>—2
—1

2>< -1 —>—1
1 1 — 2
1

@®3x2+2x —1

@2x2+5x+ 2

=(2x+1)(x+ 2)

(axc—2 ,bxd = 2

2x1 , 2x1

2>< 2 —> 2
1 1 —>2

X

®3x2+ 10x + 3
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Answer the following questions.
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Factor the following equation using cross multiplication.
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(ax+b)(cx+d)
=3x24+0x — 2
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Find the formula.
[ ax X cx=3x2
bxd=-2

axc:3kf£é%§6:t
a=3 ,c=1
bxd=—2%#5%

Ob=1 ,d=-—2

3>< 1 — 1

1 —2 —>—6
—5

(3x+1)(x—2)

=3x2—5x— 2

(3x—2)(x+ 1)

=3x%+ x— 2

@b=—-1,d=2

3 -1 —-—1

1 2 —> 6
5

(3x—1)(x+2)

=3x2+5x — 2

@b=2,d=—1
3 2 > 2
X

-1

(ax+b)(cx+d)
=3x2+0x—5
LRBERERD L,

OD8x2+6x +1

=(4x+1)(2x+ 1)

axc =8, bxd =1
8x1 1x1
4x2 , (—1)x(—-1)
8>< 1 —1
1 1 —8

9
4>< 1 —>2
2 1 >4

6

D9x?2+6x+ 1

@7x2+6x —1

=(7x+1)(x—1)

( axc = 7,bxd =—1

7x1  ,1x(—1)
7>< 1—- 1
1 —1 —>—7
—6

7>< -1 ——1
1 1 - 7
6

@5x2+ 4x — 1

®2x2+7x +5

=(2x+5)(x+1)

axc =2 ,bxd =5
(2x1

, Bx1

5 —>5

X

1 — 2

X

®3x2+8x + 5




noEw

0| ETEAY 5 B8

[

EC OB &

nwnEn

. B

HAEND

[

v

P&

AN

[

Dex?+7x+ 1

=(6x+1)(x+1)

6>< 1 —1
1 1 —>6

3>< 1 —>2
2 1 —3

D4ax2+4x+1

®5x2+7x + 2

=(sx+2)(x+1)

5>< 2 —> 2
1 1 —5

5>< 1 — 1
1 2 — 10

11

®5x2+ 8x + 3

@8x2—6x+ 1

=(4x—1)(2x— 1)

8\, —1——1
17N—1—--8
-9
4\, —1 —>—2
27 N—1—>—4
—6

@®9x2—10x + 1

@3x2+2x — 1

=(3x—1)(x+ 1)

3>< 1 - 1
1 —1 —>—3

—2
3 -1 —-—1
1 1— 3
2

@5x2+4x — 1

@2x2—x—1

=(2x+1)(x—1)

2>< 1— 1
1 -1 —>-—2

2\, —1 —>—1
1 1— 2

@7x2+6x — 1

®3x2+8x + 4

=(3x+2)(x+ 2)

7
3>< 1 — 1
1 4 — 10
11
3>< 2 —> 2
1 2 —> 6
8

®5x2+ 12x + 4

D3x2+ x— 2

=(3x—2)(x+ 1)

3 -1 —>-—1
1 2 —> 6
5
3>< 1 - 1
1 —2 > —6
—5

Ko
1 1— 3

D3x2+2x— 5
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D 3x2+4x+ 1

=(3x+1)(x+1)

3>< 1 —1
1

1 —3

D2x2+3x+1

@ 7x2—8x + 1

=(7x—1)(x—1)

7 -1 —-—1
1 -1 —>—7
—8

@s5x2—6x+ 1

®3x2+5x + 2

=(3x+2)(x+1)

3>< 2 —> 2
1

1 —3

3>< 1 — 1
1

2~ 6

®2x2+5x+ 3

@2x2— x — 3

=(2x—3)(x+1)

3~ 3

2 -1 —>-—1
1 3 — 6
5
2>< 1— 1
1 —3 & —6
—5

@5x2—3x — 2

® 3x2+ 8x + 4

=(3x+2)(x+2)

3>< 4 — 4
1 1 —3
7
3>< 1 — 1
1 4 — 12
13

= w
DN DN

!
S N

®2x2+9x + 4

®6x2+7x — 3

=(3x—1)(2x+ 3)

6>< 3 — 3
1 —1 —>—

—3
6 -1 —>—1
1 3 — 18
17
6>< 1 — 1
1 —3 — —18
—17
6 —3 > —3
1 1—> 6
3
3>< 1 - 2
2 —3 —>—9
—7
3 —3 & —6
2 11— 1
—3
3 -1 — 2
2 3— 9
7

Do W

|
—_- W
VN
w O|O »

®6x2+ x — 2
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Expand the following equation using cross multiplication.
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Factor the following equation using cross multiplication.

A T2

b
[ &8

nwn 7wy

il

HATED

[

D (2x+3)(x+1)

=2x*+5x+3

X

3 — 3

1 — 2
5

D (2x+1)(x+3)

@ (2x+1)(3x—2)

=6x2—x — 2
2>< 1 - 3
3 —2 —>—4

—1

@ (2x+1)(4x— 3)

® (2x—1)(3x+ 1)

=6x>—x — 1
2 -1 —>—3
3 1— 2

—1

®(2x—1)(4x+1)

@ (4x—1)(2x—1)

=8x>—6x + 1

4 —1 —>—2
2 —1 —->—4
—6

@ (3x—1)(2x—1)

® (x+2)(x+3)

=x*+5x+6

® (x+1)(x+3)

® (x+1)(x—3)

=x*—6x+ 8
1 -2 —>—9
1 —4 ——4

@D (x—1)(x—3)

DO3x>+7x + 2

=(3x+1)(x+ 2)

3>< 2 —> 2
1

1 —3

3>< 1 —1
1 2 —>6
7

DOsx2+ 7x + 2

@2x2—11x+5

=(2x—1)(x—5)

2>< —5 ——5
1 —1 —>—2

@ 4x2— 5x + 1

=(3x+2)(x— 3)

3>< 1 — 1
1 —6 —>—18

3><—2 — —2
1 3— 9

7
3>< 2 —> 2
1 —3 > —

—7
2 -1 - —1
1 —5 —>—10
—11
@3x2—7x— 6 @®2x2— x — 6

9
—7
@x>—5x+6 @ x2—5x + 4

=(x—1)(x—6)

X

1 —1 —>—1
—7

1 -2 —>—9

1 —-3 —>—3
-5
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Factor the following equation using cross multiplication.
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Factor the following equation using cross multiplication.

nwrEn
plEDO 3x+7x+2=(3x+1)(x+ 2)
AN AW TN 9
x? DFREE 3x1 EET 2x1
(Bx+2) (Bx+1)
SXZ — 2 3X1 - 1
1 1 - 3 1 2 — 6
(x+ 1) 5 (x+ 2) 7
b
BEO 5%+ 8x+ 3= ) ( )
PAAN AV TnT9
x? DEREIE 5x1 ERBIE 3x1
5X3 - 5X1 -
1 1 - 1 3 -
nw ey
BIEQ 422 —5x+1=(4x—1)(x— 1)
FvT ) T3
xr DAREL 4x1, 2x2 EHIE (—1)x(—1)
(4% — 1) 2x—1)
4X—1ﬁ—1 2X—1ﬁ—2
1 -1 ——4 2 -1 ——2
(x— 1) —5 2x—1) —4
bATEWN
HE® 6x—5x+ 1= ) ( )
(TL\'i}'ﬁ ’CL\'i}'ﬁ
X DEREIT 6x1,3x2 BT (—1)x(—1)
6 >< -1 - 3 >< -1 —
1 -1 — 2 -1 —
nw ey
plE® 3x—5x—2=(3x+1)(x— 2)
AN AW TN 9
 DFRBIT 3 EEIT ox(—1), (—2)x1
(Bx+2) (Bx—1)
SX 2 — 2 SX—ﬂ-ﬁ—l
1 -1 ——3 1 2 — 6
(x—1) —1 (x+ 2 5
(8x —2) (Bx+ 1)
SX—Z—*ﬂ 3>< 1 - 1
1 1 —- 3 1 —2 ——6
(c + 1) 1 (x— 2) —5
HbATEN
HE® 22— 5x— 3= ) ( )
(TL\'i}'ﬁ ’CL\'i}'ﬁ
® DFREIT 2x1 EHIE 3x(—1), (—3)x1
ZX 3 — ZX—1—>
1 -1 — 1 3 —
ZX—B—ﬁ ZX 1 -
1 1 - 1 —3 —

nwn 7w

BIEO -+ 5xy+6y2:(x+2y)(x+ Sy)
1 1 — 1 1 2 — 2
1X6 — 6 1X3 — 3

7 5

:wﬁ@ 2+ 6xy+ 8y2:( )( )

— —
X X
v
71 B @ xz—xy—2y2:(x—2y)(x+y)
1 2 — 2 1 —2 —>—2
1><—1 ——1 1>< 1 — 1
1 —1
HATEN
@ x2—2xy—3y2:( )( )
— —
X X

nwrEn

B 3 3c2—6xy—|—9312:(x—3y)2
1 -1 ——1 1 —3 —&—3
1><—9 ——9 1 ><—3 ——3

—10 —6

HATEN

HE® x2—4xy+4y2:( )2

— —
X X
nw ey
i B @ x2—25y2:(x—5y)(x+ 5y)
1 —1 ——1 1 —5 ——5
IX 25 — 25 IX 5—> 5
24 0
T
— —
X X

nw e

B E G 5ﬁ-+11xy%—2y2:(5x-%y)(x+-2y)
5., 2 — 2 5., 1 — 1
1>< 1 — 5 1X2 - 10

7 11

:ﬁé@ 2x2+b5xy+ 3y2:( )( )

— —
X X
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Factor the following equation using cross multiplication. Factor the following equation using cross multiplication.
nezEe b AT
IO 422 +5x+1=(4x+1)(x+1) HEO 102+ 7x+ 1 =( ) ( )
4 1 — 1 2 1 — 2 — N
5 4
LAEL LAEL
HEO 62+ Tx+ 1=( ) ( ) HE@ 22+ Tx+ 10 =( ) )
?’%‘J%ﬁ@ 3x2—x—2:(3x+2)(x—1) @;“E@) 3x2—2x—5:( )( )
3>< 2 — 2 3 ><—1 ——1 >< — >< —
—1 5
3 —2 —> =2 3 1 — 1 — —
1 X 1> 3 1 ><—2 —— X = X .
1 —5
Heo 2e-s-s-( )( ) o 2e-se-1-( )( )
oL X XL X
i 1® 8x?—6x+1=(4x—1)(2x—1) i 18 6 422 —dx+1=( ) ( )
8 -1 ——1 4 -1 ——2 — N
1><—1 ——8 2><—1 ——4 X - X -
-9 —6
LA EL o
HE® 9a2 — 10x+ 1 =( ) ( ) HE© 82— d4x+ 1=( ) ( )
AN b A
PIED 42— 4xy+ y2:(2x—y)2 15 B (D) x2+2xy—3y2:( )( )
4 -1 ——1 2 -1 ——2 — N
1><—1 ——4 2><—1 — =2 X E X E
—5 —4
bAED AL
fHE® 9x2—6xy+y2:( )2 HRE®) 25x2_y2:( )( )
oL X XL X







